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复旦大学网络学院
2012年秋季高升专入学考试模拟试卷2—语文、英语
一、语文 （共50题,共150分）
1. 新文学最早的白话新诗集是《女神》。（ ）
A.对 B.错 
.标准答案：B
2. 《狂人日记》中“狂人”最后发出（ ）的呼喊。
A.“与汝偕亡” B.“救救孩子” 
C.“放下你的鞭子” 
.标准答案：B
3. 温庭筠是文学史上第一位以词名家的人。（ ）
A.对 B.错 
.标准答案：A
4. 苏轼不属于唐宋八大家。（ ）
A.对 B.错 
.标准答案：B
5. 判断：《骆驼祥子》《四世同堂》的作者为同一个人。（ ）
A.对 B.错 
.标准答案：A
6. 《原野》和《日出》都是田汉的剧作。（ ）
A.对 B.错 
.标准答案：B
7. “五柳先生”“靖节先生”都是陶渊明的别号。（ ）
A.对 B.错 
.标准答案：A
8. 判断：《故事新编》是鲁迅的历史小说集。（ ）
A.对 B.错 
.标准答案：A
9. 北朝乐府民歌的代表作是（ ）。
A.《西洲曲》 B.《木兰诗》 C.《子夜歌》 
.标准答案：B
10. 曹禺的《雷雨》是四幕剧。（ ）
A.对 B.错 
.标准答案：A
11. 曹禺的剧作（ ）系由巴金的小说改编而来。
A.《日出》 B.《家》 C.《北京人》 
.标准答案：B
12. 茅盾的小说《幻灭》《动摇》《追求》，被称为（ ）三部曲。
A.蚀 B.生命 C.激流 
.标准答案：A
13. 新乐府诗派追求诗歌的古拙，风格上奇崛险拗。（ ）
A.对 B.错 
.标准答案：B
14. 韩柳虽提出了古文理论主张，创作实绩却相当有限。（ ）
A.对 B.错 
.标准答案：B
15. 杜甫诗歌的整体风格是（ ）。
A.沉郁顿挫 B.豪放飘逸 C.苦吟细思 
.标准答案：A
16. “春蚕到死丝方尽，蜡炬成灰泪始干”句，除了对仗外，还用了（ ）。
A.夸张 B.顶真 C.双关 
.标准答案：C
17. 这是一首描写（ ）节令的作品。
A.上元 B.七夕 C.端午 
.标准答案：B
18. 魏晋南北朝志怪小说的代表作是《世说新语》。（ ）
A.对 B.错 
.标准答案：B
19. 中国最早的诗歌总集是（ ）。
A.《楚辞》 B.《诗经》 
C.《古诗十九首》 
.标准答案：B
20. 《论语》主要记载了（ ）的言行。
A.老庄 B.孔子及其弟子 
C.先秦诸子 
.标准答案：B
21. “春江潮水连海平，海上明月共潮生”语出（ ）。
A.《长恨歌》
B.《无题》（相见时难别亦难）
C.《春江花月夜》
.标准答案：C
22. 屈原是春秋时期的人物。（ ）
A.对 B.错 
.标准答案：B
23. 林语堂曾提倡幽默小品文。（ ）
A.对 B.错 
.标准答案：A
24. 《群英会蒋干中计》主要赞美了诸葛亮的军事才干。（ ）
A.对 B.错 
.标准答案：B
25. 从文体上看，《聊斋志异》属于（ ）。
A.章回小说 B.短篇小说集 C.历史传奇 
.标准答案：B
26. 《游褒禅山记》的作者是（ ）。
A.欧阳修 B.苏轼 C.王安石 
.标准答案：C
27. 唐传奇中属于历史小说的是（ ）。
A.《长恨歌传》 B.《霍小玉传》 
C.《枕中记》 
.标准答案：A
28. 《人与永恒》是王小波的散文集。（ ）
A.对 B.错 
.标准答案：B
29. 欧阳修字永叔，号醉翁，晚年又号六一居士。（ ）
A.对 B.错 
.标准答案：A
30. 《天狗》充分体现了（ ）诗歌的特点。
A.现实主义 B.浪漫主义 C.、古典主义 
.标准答案：B
31. 唐传奇中属于爱情小说的是（ ）。
A.《南柯太守传》 B.《枕中记》 
C.《莺莺传》 
.标准答案：C
32. 鲁迅和周作人都在《语丝》上发表过不少散文。（ ）
A.对 B.错 
.标准答案：A
33. “语丝体”作家不包括（ ）。
A.鲁迅 B.朱自清 C.林语堂 
.标准答案：B
34. 判断：丁玲、周立波都是解放区代表性的作家。（ ）
A.对 B.错 
.标准答案：A
35. “蓬山此去无多路，青鸟殷勤为探看”句，主要的修辞格是（ ）。
A.象征 B.比喻 C.夸张 
.标准答案：A
36. 解放区的《兄妹开荒》属于革命样板戏。（ ）
A.对 B.错 
.标准答案：B
37. 下列散文集中，（ ）属于“散文诗”。
A.《自己的园地》 B.《野草》 
C.《花边文学》 
.标准答案：B
38. 《将进酒》（李白）塑造了一个（ ）的诗人形象。
A.独立进取 B.狂放不羁 C.百感交集 
.标准答案：B
39. 小说《小二黑结婚》的故事发生地点是（ ）。
A.东北 B.延安 C.晋东南 
.标准答案：C
40. 宋代诗文革新运动的领导者是（ ）。
A.欧阳修 B.苏洵 C.王安石 
.标准答案：A
41. 《定风波》（莫听穿林打叶声）是姜夔的代表作。（ ）
A.对 B.错 
.标准答案：B
42. 散文名篇《师说》的作者是（ ）。
A.韩愈 B.柳宗元 C.苏轼 
.标准答案：A
43. 诗歌《望星空》、《一个和八个》是（ ）的作品。
A.贺敬之 B.李瑛 
C.、 郭小川 
.标准答案：C
44. 《儒林外史》代表了中国古代短篇小说的最高成就。（ ）
A.对 B.错 
.标准答案：B
45. 郭沫若的历史剧往往客观写实，追求历史真相。（ ）
A.对 B.错 
.标准答案：B
46. 88判断：鲁迅的小说《祝福》收入小说集《彷徨》。（ ）
A.对 B.错 
.标准答案：A
47. 鲁迅的杂文写作使用了寓言、归谬、双关等多种技巧。（ ）
A.对 B.错 
.标准答案：A
48. 《王贵与李香香》的作者是李季。（ ）
A.对 B.错 
.标准答案：A
49. 《离骚》是一首（ ）的诗歌。
A.现实主义 B.浪漫主义 C.象征主义 
.标准答案：B
50. “少壮不努力，老大徒伤悲”语出汉乐府（ ）。
A.《孔雀东南飞》 B.《陌上桑》 
C.《长歌行》 
.标准答案：C
二、英语 （共60题,共150分）
1. The boss thought that the girl should take complete _______ for the failure of the party.
A.responsibility B.control 
C.object D.business 
.标准答案：A
2. The city government has _______ great importance to the development of transportation in the past few years.
A.attended B.attacked C.attached D.accounted 
.标准答案：C
3. His carelessness _______ his failure in that important experiment.
A.resulted in B.resulted from 
C.led into D.brought in 
.标准答案：A
4. To my disappointment, the new dictionary is not _______ in the bookstore now.
A.invented B.included C.concluded D.available 
.标准答案：D
5. It was after we made repeated requests that they ______ agreed to provide help.
A.necessarily B.undoubtedly 
C.reluctantly D.rudely 
.标准答案：C
6. The police didn’t have enough _______ to prove him guilty so they set him free at last.
A.evidence B.conclusion C.sincerity D.confidence 
.标准答案：A
7. But if you dress neatly, you'll certainly be more _______ to your classmates.
A.expensive B.effective C.attractive D.attentive 
.标准答案：C
8. I have just started to work this year. This is too _______ a car for me to buy.
A.extensive B.intensive C.selective D.expensive 
.标准答案：D
9. The United Kingdom______ England, Wales, Scotland, and Northern Ireland.
A.is consisted of
B.constitutes
C.is composed of
D.concludes
.标准答案：C
10. Their investment has _______ a lot of jobs for the local people.
A.created B.invented C.developed D.discovered 
.标准答案：A
11. The speed limit has been _______ because the number of deaths on the highway is increasing.
A.improved B.reduced C.produced D.extended 
.标准答案：B
12. Compared with other students, the girl has better listening and speaking _______ in English.
A.capacities B.possibilities 
C.probabilities D.abilities 
.标准答案：D
13. The two passengers _______ the crash and were sent to the hospital right away.
A.endued B.survived C.lasted D.witnessed 
.标准答案：B
14. I’m only worried about his attitude to the job; his _______ as a designer is not in question.
A.attachment B.patience C.competence D.passion 
.标准答案：C
15. The teacher was ______ of the students’ work and did not give good grades easily.
A.cautious B.crazy C.confident D.critical 
.标准答案：D
16. He has wonderful academic _______ and a good command of English.
A.invitations B.involvements 
C.environments D.achievements 
.标准答案：D
17. Correct the important errors in your paper, but do not _______ with the minor ones.
A.mix B.bargain C.associate D.bother 
.标准答案：D
18. Talking about the style of music with her is a waste of time, as she can't even _______ the rhythm of a song.
A.appreciate B.enjoy C.entertain D.value 
.标准答案：A
19. I just couldn’t _______ what he had been talking about all the time.
A.catch out B.set out 
C.keep on D.figure out 
.标准答案：D
20. You need to pay _______ attention to your spelling — you’re making a lot of careless mistakes.
A.responsible B.impressive 
C.frequent D.particular 
.标准答案：D
21. What she earns as a salesgirl is not _______ to support her family if she doesn’t take a part-time job.
A.helpful B.adequate C.decent D.ideal 
.标准答案：B
22. Every one at the party was greatly _______ by the pianist’s excellent performance.
A.embarrassed B.annoyed 
C.impressed D.tempted 
.标准答案：C
23. The region has enormous _________ for economic development but a lot of investment is needed to achieve this.
A.exception B.presence C.potential D.portion 
.标准答案：C
24. Difficulties will _______ as we do the work.
A.rise B.change 
C.a rise D.raise 
.标准答案：C
25. The new computer is too __________ even for a skilled operator to handle.
A.earnest B.deserted 
C.complicated D.normal 
.标准答案：C
26. His life-long effort didn't enable him to _______ fame throughout the world.
A.complete B.achieve C.realize D.fulfil 
.标准答案：B
27. To fulfil the task we are assigned successfully, we have to get well prepared _______.
A.in advance B.in detail 
C.in turn D.in force 
.标准答案：A
28. The weight-lifter, who had been unknown ________, won the gold medal at the Olympics to everyone’s surprise.
A.particularly B.peculiarly 
C.previously D.primarily 
.标准答案：C
29. We should give more respect to the people who are ________ to learning and teaching.
A.adequate B.federal C.confident D.dedicated 
.标准答案：D
30. Choosing and preparing for a career are of _______ importance to American teenagers.
A.excessive B.exact C.extensive D.extreme 
.标准答案：D
31. Both the plan maker and the program manager blame _______ for the collapse of the building.
A.another B.the other 
C.other D.each 
.标准答案：B
32. Few pleasures can equal _______ of a cool drink on a hot day.
A.some B.any C.that D.those 
.标准答案：C
33. The plant is said _______ in a fire several years ago.
A.to destroy
B.to have destroyed
C.to have been destroyed
D.to be destroyed
.标准答案：C
34. His new book is said _______ into fifteen languages.
A.to have been translated
B.to be translated
C.having been translated
D.being translated
.标准答案：A
35. _______ discoveries of new evidence, the debate over Darwin's theory of evolution continues.
A.Except B.Despite C.Through D.Besides 
.标准答案：B
36. After much discussion, they agreed _______ a plan.
A.to B.on C.with D.about 
.标准答案：B
37. I am sorry I haven't done _______ I should.
A.as far as B.as much as 
C.as long as D.as many as 
.标准答案：B
38. Under Islamic laws, one man may legally have as many as four wives, _______ are entitled to equal treatment.
A.they all B.all of them 
C.all of those D.all of whom 
.标准答案：D
39. He ______ the book; he knows the story so well.
A.must read B.must have read 
C.read D.reads 
.标准答案：B
40. You _______ all those calculation! We have a computer to do that sort of thing.
A.needn't have done
B.mustn't have done
C.shouldn't have done
D.can't have done
.标准答案：A
41. By the time he arrives, we _______ for Shanghai.
A.will leave B.would leave 
C.have left D.will have left 
.标准答案：D
42. They _______ hard this morning and they are really hungry.
A.are working
B.work
C.have been working
D.will be working
.标准答案：C
43. He drives _______ than he did three years ago.
A.carefully
B.more careful
C.much carefully
D.much more carefully
.标准答案：D
44. The salesman showed her several bags and she chose _______ one as she didn't want to spend too much money on it.
A.the less expensive
B.less expensive
C.the least expensive
D.least expensive
.标准答案：C
45. It is about time all this machinery _______ done away with.
A.should be B.will be 
C.was D.has to be 
.标准答案：C
46. I wish I _______ at home when the postman came.
A.was B.were 
C.am D.have been 
.标准答案：B
47. A photo _______ each time that button is pushed.
A.has taken B.is taken 
C.had been taken D.takes 
.标准答案：B
48. Don’t worry. Everything _______ care of in time.
A.takes B.will take 
C.be taken D.will be taken 
.标准答案：D
49. Mary doesn't watch TV very much, and _______.
A.neither I do
B.nor do I
C.I also don't
D.I don't neither
.标准答案：B
50. I like to read short stories. ________.
A.So does she B.So she does 
C.She does so D.She so does 
.标准答案：A
51. 
When Mrs. Joseph Groeger died recently in Vienna, Austria, people asked the question, “why did she live to be 107?” Answers were given by doctors who had studied 148 Viennese men and women reaching the age of 100. What was surprising was that the majority had lived most of their lives in cities. Though the cities are usually regarded as unhealthy places, city living often provides benefits that country living cannot. One factor seems to be important to the long lives of those who have been studied by the doctors.
This factor is exercise. In the cities it is often faster and more comfortable to walk short distance than to wait for a bus. Even taking public transportation often requires some walking. Smaller flats have no lifts, and so people living there must climb stairs. People in the cities can usually walk to local supermarkets. Since parking space is hard to find, there is no other way except walking.

On the other hand, those who live in the country do not have to walk every day. In fact, the opposite is often true. To go to school, work or almost anywhere else, they must ride in cars. 

(1) The studies by the doctors may help to explain __________.
A.the difficulty people living in small flats meet with
B.the cause of Mrs. Groeger’s health
C.the long lives of people like Groeger
D.what cities look like in general
.标准答案：C
(2) In the second paragraph, the writer mainly tells us __________.
A.the benefits of walking
B.why city people have to walk very often
C.the problems of living in a city
D.what people think of living in the city
.标准答案：B
(3) To reach the third floor of a building, it would probably be most healthy __________.
A.to take the lift
B.to walk up the stairs
C.to run all the way upstairs
D.to take a lift to the fourth floor and then walk down one flight back to the third
.标准答案：B
(4) People living in the country probably drive rather than walk because they __________.
A.don’t live near business areas
B.don’t need to walk 
C.never have parking problems
D.are rich enough to buy a car
.标准答案：A
(5) The conclusion we can draw from the passage is that __________.
A.air pollution is not serious in Austria
B.most people in Vienna can live to be 100
C.country people should move to the city
D.walking is helpful to one’s health
.标准答案：
52. 
Most volcanoes (火山) are quiet. They rest peacefully for hundreds of years. No one pays much attention to them.
Mount St. Helens was one of these volcanoes. Until 1980, it was a beautiful recreation area. Its last eruption (喷发) had been 123 years ago. No one was worried about another one. Then, in March 1980, Mount St. Helens began to make noises. At first, there were tremors (震动). Then, small eruptions occurred. Some residents left immediately. Others felt there was no danger.

But on the morning of May 18, 1980, the mountain blew its top. With the power of twenty-five atomic bombs (原子弹), Mount St. Helens exploded. Clouds of dust and ash rose more than twelve miles into the sky. Rocks and mud crashed down the slopes (山坡).

Unfortunately, many people were still living, camping, or working in the area. Over forty people lost their lives. Others were rescued.

Robert Baker was fishing with his family when the explosion occurred. He reported that the morning of May 18 was strange. No birds were singing. The air was still. Then, he saw a large black cloud coming down toward them. In minutes, day turned into night. He called his family to their van and they started on the slow dark ride away from the mountain. All the time, hot ash was raining on them.

But other people were not so lucky. David Johnston, a volcano expert, was standing near the summit (顶点) of the mountain. At 8:31 a.m., he radioed, "This is it!" He was never heard from again.

Mount St. Helens is peaceful now. But its slopes are empty. It will be many years before fish, plants, and trees will again live on the mountain. (283)

(1) When was Mount St. Helens' recent eruption?
A.March 1989.
B.May 1980.
C.18 March, 1908.
D.8 May, 1918.
.标准答案：B
(2) What were the sign before the violent eruption?
A.Noises and tremors.
B.Clouds of dust and ash.
C.Rocks and mud.
D.Hot ash all around.
.标准答案：A
(3) _______ people died during the eruption.
A.More than 40 
B.18
C.123
D.25
.标准答案：A
(4) How did Robert Baker describe the morning immediately before the explosion occurred?
A.Noisy. B.Exciting. C.Bright. D.Quiet. 
.标准答案：D
(5) What happened to the volcano expert, David Johnston?
A.He survived the volcanic eruption.
B.He reported the eruption in great detail.
C.He was probably buried under the lava (熔岩).
D.He was probably hit by a hard rock.
.标准答案：C

